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Note:

(i) AII the four questions are compulsory.

(ii) All questions carry equal weightage'

1 . Answer the following question in about 600 words'

Explain the different straiegies that can be used to

help students to learn various language skills at the

primary stage.
OR

Why did the Government of India adopt the Three

Language Formula ? What are the constituent

languages under this formula ? Discuss the

implications of this formula for a primary school

student.
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2. Answer the following question in about 600 words.

Why should a teacher develop his own instructional
material ? What principl€s should he/she keep in
mind while developing such material ?

OR

What specific competencies need to be developed
in the learners before they are taught to read and
wrtle- ?

3. Answer any fourof the following questions in
about 150 words each :

(i) Discuss the main objectives of teaching
language at the primary stage.

(ii) Explain the importance of two types of
reading.

What are puncfuation marks ? Explain the use
of six punctuation marls.

As a teacher, what steps would you take to
increase learners' participation in the
teaching{earning process ?

What guidelines would you keep in mind while
selecting an appropriate teaching-learning aid
at the primary stage ?

On what basis does a teacher evaluate
learners' progress and performance ?
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4. Answer the following question in about 6O0 words.

As a teacher, what co-curricular activities do you

organise in your school ? Evaluate the contribution

of each activity towards the development of various

facets of learners' personali.ty.
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